Pre-Calculus {A)

Law of Cosines and Applications HW
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Use the Law of Cosines to solve each triangle in exercises 1 — 4.

1)

t=a"+p"-20b 008,
C= 04 (1 2(3)(23) 0 §T°
1429 - 7390

SRR

— T

3 23 31
N

375NH=2.35ME7
SWMB-. 620¥

3) a=45,b=30,c=72
® -a*+b =200 WS C

1 = ats ()= (30 (8- 2(30)(4€) @S O

5134 = 2926 - 2100 s &

2169 = -2100 WG

- .$%07) =80
meC= e (-.9361)

SINA_ sinh_ sin¥bg
WwOW . B
N
T28nB = 308N \4b. &

Snp - 0.2182
med=13)°

|mec = 20°

b a*+ct-200000B
@Y (02 + (8.8) - 2(eD(E.5) (5B
R8.30 = 16 %% - 104.12 05 &
-21.64 =-109.12 08 ®
0.2622 = Wb
w|mep=154"

sWA_ sin15Y9 _anc

61 Gm  ¢%
v
q45nh= b-2sn154

SWA=.6383 JLﬁ
S mLA=3q-—lO ‘mLC_‘bqq

\$.25°
4) mZC=1515a=6.25,b=2.15

¢ a%+b*-20b00s G

0205 (p20)% (2.45)° - 2(6.8)(245) o 926
R - y3.686- 299281
zad
b (= 1171563
[L: 4.2

P—)

2
§_l!_]-A . SLVL(b 2 S_\D_\_G—-g
w1l 218 4.2

4.2sn= a.\ss\ms.z‘)
ank - 0.134b

meA = 161057

e e



Use either the Law of Sines or the Law of Cosines to solve the following problems.

5) Points A and B are on opposite sides of a lake. A point Cis 84.5 meters from A. The m£BAC is
79°20', and the mZACB is determined to be 33°10'. Find the distance between points A and B to the

nearest meter. .
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% % % 6) You are seeding a triangular courtyard. One side of the courtyard is 52 feet long and another side is
ot 46 feetlong. The angle opposite the 52-foot side is 65 degrees. If one bag of grass seed covers an area
QP‘Q QA of 50 square feet, how many bags of grass seed will you need to cover the courtyard?
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7) To find the distance across a bay, a surveyor locates points Q, R, and S as shown.
a) What is the distance across the bay? Round to the
nearest tenth of a meter.
l 41.9m ’

b) What is the measure of angle Q to the nearest
degree?

. b) SMA_SnuY_ snC

a) b =0 +¢’- 20008 4 WA 3
b 433602 (uB) 3 ons 4 N/
o %‘ lq( 412 3654 = 11500
H -1319.
), 0.1608 = NG
Rt mec= 4 o [ue ]

bvulq



8) An observer in tower A sees a fire 1554 ft away at an angle of depression of 28°. To the nearest foot,
how far is the fire from an observer in tower B? To the nearest degree, what is the angle of depression
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9) The edges of a triangular cushion measure 8 inches, 3 inches, and 6 inches. What is the measure of
the largest angle of the cushion to the nearest degree?
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10) What is the best estimate for the perimeter of a triangle if the two sides measure 7 inches and 10

inches, and the included angle between the two sides is 82°?
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